
Defy It f : A → B is both l- I and onto
,
f is called

a bijection .
-

EI f : IN → 2

If f bi a bijection , there is a one-to-onecorresponde.ly
b/w the elements of A and the elements of B .

In this case, can define

f-
'
:

by f
-I (b) = a where a b the element of A Shou

that.

(
the value a exists bk f is and it is unique

b/c f- is
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B → A
.

f-(a) =b .

onto

l - I
.
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Note that ft
- ' f) (a) = and (ff

- 'Xb) =

for all at A and be B.

Thin Sps . f : A- B , g : B
- C

,
h :C-D

A is B Es C 4- D

l . hlgf ) = Chg)f

↳
ie

.
function composition is - (proof omitted)

2 . If C- and gave It , so is gf . (exercise)

3. If f and g are onto
,
so is gf . (exercise)
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associative


